


	Mathematics                              End Term 2

                                                             40 mins

35 marks                                                Date



	Instructions:  1.  Answer all questions.

 2.  Calculators permitted for Question 2 only


Question 1
(N4.1, N4.2, N4.3, N5.1

14 marks)

a)

Write the following words as fractions:
i)
One-quarter

ii)
Three and a half



(N4.1, 2)


b)

Write the following fractions as words:
i)
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ii)
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(N4.1, 2)

c)

What fraction is the shaded part of the whole?


i)















ii)




































(N4.1, 2)

d)

Write each of the following as a fraction, a decimal and as a percentage:



i)
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ii)

The interest rate was set at 12%.









(N5.1, 2)

e)

Calculate, without a calculator, each of the following:

i)


22.03



ii)


576.96





iii)



4.65

 

51.73





–
181.42




 


    x
  2.3





37.66



























(N4.2, 2)


+
59.84



























(N4.3, 1) 

iv)
The boundary was measured at 74.4 m, 49.5 m and 23.8 m.  What is the total distance around the boundary?



























(N4.2, 1)

v)

Eric was able to sort 35 items each hour.  How many were sorted in 5 hours?




(N4.3, 1)

vi)
The box of 56 oranges are to be divided among the four people.  How many each?


(N4.3, 1)

Question 2
(M5.1

7 marks)

a)

Find the perimeter of each of the following shapes:


i)








ii)










iii)





















































(M5.1, 6)

b)
The top of a rectangular bench is three as long as it is wide.  If the perimeter of the top of the bench is 600 cm, how long is the bench?




















(M5.1, 1)

Question 3
(PA5.1

10 marks)

	Step
	1
	2
	3
	4
	5
	10
	20

	Step x 3 + 1
	
	
	
	
	
	
	


a)

Complete the following table:




 






























(PA5.1, 2)

b)

What is the difference between a linear function and a non-linear function?





(PA5.1, 2)

c)
For each of the following patterns, decide whether the pattern is linear or non-linear.  
If the pattern is linear, complete the table and write a function for the pattern:

	Step
	1
	2
	3
	4
	5
	10
	20

	
	
	
	
	
	
	
	



i)  






























(PA5.1, 2)




ii)































(PA5.1, 2)
iii)
A freight company charges $4 for the first kilometre, $7 for two kilometres, $10 for three kilometres.






























(PA5.1, 2)

Question 4
(N4.2, N4.3  4 marks)

a)
Today I’m exactly five times the age of my daughter.  In twenty-four years time, I’ll be double the age of my daughter.  How old am I?



















(N4.2, N4.3, 2)

b)
$1 200 is divided among A, B, and C so that A gets three times as much as C, and B gets twice as much as C.  How much do they each get?

















(N4.2, N4.3, 2)




	Mathematics                              End Term 2

                                                             40 mins
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	Instructions:  1.  Answer all questions.

 2.  Calculators permitted for Question 2 only


Question 1
(N4.1, N4.2, N4.3, N5.1

14 marks)

a)

Write the following words as fractions:
i)
One-fifth

ii)
Two and a quarter



(N4.1, 2)


b)

Write the following fractions as words:
i)
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ii)
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(N4.1, 2)

c)

What fraction is the shaded part of the whole?


i)















ii)




































(N4.1, 2)

d)

Write each of the following as a fraction, a decimal and as a percentage:



i)
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ii)

The interest rate was set at 16%.









(N5.1, 2)

e)

Calculate, without a calculator, each of the following:

i)


62.17



ii)


416.86





iii)



2.73
 

46.21





–
135.72




 


    x
  4.1





72.42



























(N4.2, 2)


+
13.04



























(N4.3, 1) 

iv)
The boundary was measured at 45.2 m, 82.2 m and 36.2 m.  What is the total distance around the boundary?



























(N4.2, 1)

v)

Jara can use the tractor to dig 53 postholes in an hour.  How many in 6 hours?



(N4.3, 1)

vi)
The box of 114 apples are to be divided among the three people.  How many each?


(N4.3, 1)

Question 2
(M5.1

7 marks)

a)

Find the perimeter of each of the following shapes:


i)








ii)










iii)






















































(M5.1, 6)

b)
The top of a rectangular bench is twice as long as it is wide.  If the perimeter of the top of the bench is 300 cm, how wide is the bench?




















(M5.1, 1)

Question 3
(PA5.1

10 marks)

	Step
	1
	2
	3
	4
	5
	10
	20

	Step x 3 - 1
	
	
	
	
	
	
	


a)

Complete the following table:




 































(PA5.1, 2)

b)

What is the difference between a linear function and a non-linear function?






(PA5.1, 2)

c)
For each of the following patterns, decide whether the pattern is linear or non-linear.  
If the pattern is linear, complete the table and write a function for the pattern:

	Step
	1
	2
	3
	4
	5
	10
	20

	
	
	
	
	
	
	
	





i)  































(PA5.1, 2)




ii)
































(PA5.1, 2)
iii) A trust fund returned $2000 the first year, $3000 the second year, and $5000 the second year




































(PA5.1, 2)

Question 4
(N4.2, N4.3  4 marks)

a)
Today I’m exactly six times the age of my son.  In four years time, I’ll be four times the age of my son.  How old am I?

























(N4.2, N4.3, 2)

b)
$1 600 is divided among A, B, and C so that A gets four times as much as C, and B gets three as much as C.  How much do they each get?

















(N4.2, N4.3, 2)
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	Instructions:  1.  Answer all questions.

 2.  Calculators permitted for Question 2 only


Question 1
(N4.1, N4.2, N4.3, N5.1

14 marks)

a)

Write the following words as fractions:
i)
Two-ninths

ii)
Three and a third




(N4.1, 2)


b)

Write the following fractions as words:
i)
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ii)
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(N4.1, 2)

c)

What fraction is the shaded part of the whole?


i)















ii)




































(N4.1, 2)

d)

Write each of the following as a fraction, a decimal and as a percentage:



i)
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ii)

The interest rate was set at 14%.









(N5.1, 2)

e)

Calculate, without a calculator, each of the following:

i)


51.49



ii)


636.51





iii)



4.21

 

43.20





–
247.36




 


    x
  2.4





71.28



























(N4.2, 2)


+
76.64



























(N4.3, 1) 

iv)
The boundary was measured at 61.9 m, 53.7 m and 84.2 m.  What is the total distance around the boundary?



























(N4.2, 1)

v)

Lang fills 37orders in an hour.  How many in 7 hours?












(N4.3, 1)

vi)
The box of 96 tomatoes are to be divided among four people.  How many each?



(N4.3, 1)

Question 2
(M5.1

7 marks)

a)

Find the perimeter of each of the following shapes:


i)








ii)










iii)






















































(M5.1, 6)

b)
The top of a rectangular bench is three as long as it is wide.  If the perimeter of the top of the bench is 320 cm, how wide is the bench?




















(M5.1, 1)

Question 3
(PA5.1

10 marks)

	Step
	1
	2
	3
	4
	5
	10
	20

	Step x 4 - 2
	
	
	
	
	
	
	


a)

Complete the following table:




 































(PA5.1, 2)

b)

What is the difference between a linear function and a non-linear function?






(PA5.1, 2)

c)
For each of the following patterns, decide whether the pattern is linear or non-linear.  
If the pattern is linear, complete the table and write a function for the pattern:

	Step
	1
	2
	3
	4
	5
	10
	20

	
	
	
	
	
	
	
	





i)  































(PA5.1, 2)





ii)
































(PA5.1, 2)

iv) The unit is rented at $300 for 1 week, $600 for 2 weeks, and $900 for 3 weeks.



































(PA5.1, 2)

Question 4
(N4.2, N4.3  4 marks)

a)
Today I’m exactly four times the age of my daughter.  In four years time, I’ll be four times the age of my son.  How old am I?























(N4.2, N4.3, 2)

b)
$1 600 is divided among A, B, and C so that A gets four times as much as C, and B gets three as much as C.  How much do they each get?

















(N4.2, N4.3, 2)
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